

***SOME FAMILIES OF GENERATING FUNCTIONS  
FOR THE JACOBI POLYNOMIALS***

**H.M. Srivastava & L.C. Gupta**

**DMS-664-IR**

**June 1994**

# SOME FAMILIES OF GENERATING FUNCTIONS FOR THE JACOBI POLYNOMIALS

**H.M. Srivastava**

Department of Mathematics and Statistics  
University of Victoria  
Victoria, British Columbia V8W 3P4, Canada

and

**L.C. Gupta**

Department of Applied Sciences  
Punjab Engineering College  
Chandigarh 160012, Punjab, India

## **Abstract**

The authors derive a unification and generalization of several families of linear, bilinear, and bilateral generating functions for the classical Jacobi polynomials, which were given in a number of earlier works on the subject. They also show how the results considered here can be extended further to hold true for the product of two Jacobi polynomials of different arguments. Relevant historical remarks and observations, and connections with other works on applications of some of these generating functions, are presented rather briefly.

---

1991 *Mathematics Subject Classification*. Primary 33C45; Secondary 33C20, 33C70.

**Keywords**. Generating functions, Jacobi polynomials, Gauss hypergeometric function, Lauricella functions, Kampé de Fériet function, Bateman's product formula.

## 1. Introduction

For the classical Jacobi polynomials (*cf.*, *e.g.*, Szegö [27, p. 68])

$$P_n^{(\alpha, \beta)}(x) := \sum_{k=0}^n \binom{n+\alpha}{n-k} \binom{n+\beta}{k} \left(\frac{x-1}{2}\right)^k \left(\frac{x+1}{2}\right)^{n-k}, \quad (1)$$

Jacobi's generating function:

$$\sum_{n=0}^{\infty} P_n^{(\alpha, \beta)}(x) t^n = 2^{\alpha+\beta} R^{-1} (1-t+R)^{-\alpha} (1+t+R)^{-\beta} \quad (2)$$

$$\left( R := (1 - 2xt + t^2)^{\frac{1}{2}} \right)$$

is well-known. (For several interesting proofs of the classical result (2), the interested reader is referred (among other places) to Szegö [27, Section 4.4], Rainville [15, Section 140], Carlitz [5], Askey [2], Foata and Leroux [9], Srivastava [18], and Parnes and Ekhad [13].) Another remarkable generating function for the Jacobi polynomials, which is due essentially to Feldheim [7], has the *elegant* form:

$$\sum_{n=0}^{\infty} P_n^{(\alpha-n, \beta-n)}(x) t^n = \left\{1 + \frac{1}{2}(x+1)t\right\}^{\alpha} \left\{1 + \frac{1}{2}(x-1)t\right\}^{\beta}, \quad (3)$$

which does indeed follow easily from the definition (1).

Over a decade ago, Gupta [10] gave three *bilateral* generating functions for the Jacobi polynomials, each of which involved the Gaussian hypergeometric  ${}_2F_1$  function. In terms of the Lauricella triple hypergeometric series  $F_4$ ,  $F_8$ , and  $F_7$  (which, in the notations used by Saran [16], are  $F_E$ ,  $F_G$ , and  $F_S$ , respectively) (see, *e.g.*, Srivastava and Karlsson [21, pp. 42-43]), these *main* results of Gupta's paper [10] may be recalled here as follows:

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n}{(\alpha+1)_n (\beta+1)_n} P_n^{(\alpha, \beta)}(x) {}_2F_1(\lambda+n, a; b; y) t^n \quad (4)$$

$$= F_E \left[ \lambda, \lambda, \lambda, a, \mu, \mu; b, \alpha+1, \beta+1; y, \frac{1}{2}(x-1)t, \frac{1}{2}(x+1)t \right];$$

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{(\mu)_n} P_n^{(\alpha-n, \beta-n)}(x) {}_2F_1(\lambda+n, a; b; y) t^n \quad (5)$$

$$= F_G \left[ \lambda, \lambda, \lambda, a, -\alpha, -\beta; b, \mu, \mu; y, -\frac{1}{2}(x+1)t, -\frac{1}{2}(x-1)t \right];$$

$$\sum_{n=0}^{\infty} \frac{(\lambda)_n}{(\mu)_n} P_n^{(\alpha-n, \beta-n)}(x) {}_2F_1(a, b; \mu+n; y) t^n \quad (6)$$

$$= F_S \left[ a, \lambda, \lambda, b, -\alpha, -\beta; \mu, \mu, \mu; y, -\frac{1}{2}(x+1)t, -\frac{1}{2}(x-1)t \right],$$

where, and throughout the present paper,  $(\lambda)_n$  denotes the Pochhammer symbol defined by

$$(\lambda)_n := \frac{\Gamma(\lambda+n)}{\Gamma(\lambda)} = \begin{cases} 1 & (n=0) \\ \lambda(\lambda+1)\cdots(\lambda+n-1) & (n \in \mathbb{N} := \{1, 2, 3, \dots\}). \end{cases}$$

Much more general results than the bilateral generating functions (4), (5), and (6) were given earlier by (i) Srivastava and Daoust [19] who derived a multivariable bilateral generating function involving a general class of polynomials and the (Srivastava-Daoust) generalized Lauricella functions; (ii) Panda [12] who provided a further extension of the aforementioned work of Srivastava and Daoust [19], and (iii) Rahman [14] who considered generating functions for the Jacobi polynomials involving an essentially arbitrary sequence of complex numbers. The results of each of these papers were reproduced subsequently in a treatise on the subject of generating functions by Srivastava and Manocha [22, Chapter 2, Problems 57, 59, and 14 (ii)]. The main object of this paper is to present some unifications and generalizations of the generating functions considered in each of these (and many other) earlier works.

## 2. Bilateral Generating Functions

The generating functions (1) and (2), and their numerous generalizations and variations considered in the mathematical literature, were unified and extended by Srivastava and Singhal [24] in the form:

$$\sum_{n=0}^{\infty} P_n^{(\alpha+\lambda n, \beta+\mu n)}(x) t^n \quad (7)$$

$$= (1+\xi)^{\alpha+1} (1+\eta)^{\beta+1} [1 - \lambda\xi - \mu\eta - (\lambda + \mu + 1)\xi\eta]^{-1},$$

where  $\xi$  and  $\eta$  satisfy the equations:

$$(x+1)^{-1}\xi = (x-1)^{-1}\eta = \frac{1}{2}t(1+\xi)^{\lambda+1}(1+\theta)^{\mu+1}. \quad (8)$$

It may be of interest to remark in passing that the Srivastava-Singhal generating function (7) was applied recently by Chen and Ismail [6] in order to determine the asymptotic behaviour of the Jacobi polynomials:

$$P_n^{(\alpha+\lambda n, \beta+\mu n)}(x)$$

when  $n \rightarrow \infty$ , and  $\alpha, \beta, \lambda, \mu$ , and  $x$  remain fixed. Strehl [26], on the other hand, has presented an interesting combinatorial proof of the Srivastava-Singhal result (7).

For a suitably bounded sequence  $\{\Omega_n\}_{n=0}^{\infty}$  of essentially arbitrary complex numbers, we shall prove the general result:

$$\begin{aligned} & \sum_{n=0}^{\infty} \Omega_n P_n^{(\alpha+\lambda n, \beta+\mu n)}(x) t^n \\ &= \sum_{\ell, m=0}^{\infty} \Omega_{\ell+m} \frac{(\alpha+1)_{(\lambda+1)(\ell+m)} (\beta+1)_{(\mu+1)(\ell+m)}}{(\alpha+1)_{\lambda\ell+(\lambda+1)m} (\beta+1)_{(\mu+1)\ell+\mu m}} \\ & \quad \cdot \frac{\left\{\frac{1}{2}(x+1)t\right\}^{\ell}}{\ell!} \frac{\left\{\frac{1}{2}(x-1)t\right\}^m}{m!}, \end{aligned} \tag{9}$$

provided that each member of (9) exists.

**Proof.** Denoting, for convenience, the first member of the generating function (9) by  $\Delta$ , and applying the definition (1), we have

$$\begin{aligned} \Delta &:= \sum_{n=0}^{\infty} \Omega_n P_n^{(\alpha+\lambda n, \beta+\mu n)}(x) t^n \\ &= \sum_{n=0}^{\infty} \Omega_n t^n \sum_{k=0}^n \binom{\alpha+(\lambda+1)n}{n-k} \binom{\beta+(\mu+1)n}{k} \\ & \quad \cdot \left(\frac{x-1}{2}\right)^k \left(\frac{x+1}{2}\right)^{n-k}, \end{aligned}$$

which, upon inversion of the order of summation, yields

$$\begin{aligned}
\Delta &= \sum_{k=0}^{\infty} \left( \frac{x-1}{x+1} \right)^k \sum_{n=k}^{\infty} \Omega_n \binom{\alpha + (\lambda + 1)n}{n-k} \binom{\beta + (\mu + 1)n}{k} \left\{ \frac{1}{2}(x+1)t \right\}^n \\
&= \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \Omega_{n+k} \binom{\alpha + (\lambda + 1)(n+k)}{n} \binom{\beta + (\mu + 1)(n+k)}{k} \\
&\quad \cdot \left\{ \frac{1}{2}(x+1)t \right\}^n \left\{ \frac{1}{2}(x-1)t \right\}^k,
\end{aligned}$$

which would lead us at once to the second member of (9) if we express each of the combinatorial coefficients in terms of the Pochhammer symbols.

This evidently completes the proof of (9) under the assumption that the double series involved in the first two steps of our proof are absolutely convergent. Thus, in general, the result (9) holds true (at least as a relation between *formal* power series) for those values of the various parameters and variables involved for which each member of the assertion (9) exists.

For  $\lambda = \mu = 0$ , (9) immediately yields (*cf.* Rahman [14]; see also Srivastava and Manocha [22, p. 148, Problem 14 (ii)])

$$\begin{aligned}
&\sum_{n=0}^{\infty} \Omega_n P_n^{(\alpha, \beta)}(x) t^n \\
&= \sum_{\ell, m=0}^{\infty} \Omega_{\ell+m} \frac{(\alpha+1)_{\ell+m} (\beta+1)_{\ell+m}}{(\alpha+1)_{\ell} (\beta+1)_{m}} \frac{\left\{ \frac{1}{2}(x-1)t \right\}^{\ell}}{\ell!} \frac{\left\{ \frac{1}{2}(x+1)t \right\}^m}{m!}.
\end{aligned} \tag{10}$$

Gupta's bilateral generating function (4) is an obvious *further* special case of the known result (10) when

$$\begin{aligned}
\Omega_n &= \frac{(\lambda)_n (\mu)_n}{(\alpha+1)_n (\beta+1)_n} {}_2F_1(\lambda+n, a; b; y) \\
&\quad (n \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}).
\end{aligned}$$

For  $\lambda = \mu = -1$ , the generating function (9) reduces readily to the following (presum-

ably new) form:

$$\begin{aligned} & \sum_{n=0}^{\infty} \Omega_n P_n^{(\alpha-n, \beta-n)}(x) t^n \\ &= \sum_{\ell, m=0}^{\infty} \Omega_{\ell+m} (-\alpha)_{\ell} (-\beta)_{m} \frac{\left\{-\frac{1}{2}(x+1)t\right\}^{\ell}}{\ell!} \frac{\left\{-\frac{1}{2}(x-1)t\right\}^m}{m!}. \end{aligned} \tag{11}$$

Gupta's bilateral generating functions (5) and (6) would follow easily as *further* special cases of (11) when we set

$$\Omega_n = \frac{(\lambda)_n}{(\mu)_n} {}_2F_1(\lambda + n, a; b; y) \quad (n \in \mathbb{N}_0)$$

and

$$\Omega_n = \frac{(\lambda)_n}{(\mu)_n} {}_2F_1(a, b; \mu + n; y) \quad (n \in \mathbb{N}_0),$$

respectively, and identify the resulting triple series on the right-hand sides as known hypergeometric functions of the three variables

$$y, \quad -\frac{1}{2}(x+1)t, \quad -\frac{1}{2}(x-1)t.$$

Both (10) and (11), with  $\Omega_n$  expressed in terms of a (Srivastava-Daoust) generalized hypergeometric function of  $s$  complex variables

$$z_1, \dots, z_s,$$

were actually deduced by Srivastava and Daoust [19] in 1971 from a *single* bilateral generating function for a general class of polynomials (see also Srivastava and Manocha [22, p. 191, Problems 57 (ii) and 57 (iii)]). Thus, as we remarked in the preceding section, the bilateral generating functions (4), (5), and (6) are very specialized versions of the case  $s = 1$  of the aforementioned results of Srivastava and Daoust [19].

Next, setting

$$\Omega_n = \frac{\prod_{j=1}^r (c_j)_{n\rho_j}}{\prod_{j=1}^s (d_j)_{n\sigma_j}}$$

$$(\rho_j > 0 \ (j = 1, \dots, r); \ \sigma_j > 0 \ (j = 1, \dots, s); \ n \in \mathbb{N}_0)$$

and interpreting the resulting right-hand side as a (Srivastava-Daoust) generalized Kampé de Fériet function (*cf.*, *e.g.*, Srivastava and Karlsson [21, p. 37]), we find from (9) that

$$\begin{aligned}
& \sum_{n=0}^{\infty} \frac{\prod_{j=1}^r (c_j)_{n\rho_j}}{\prod_{j=1}^s (d_j)_{n\sigma_j}} P_n^{(\alpha+\lambda n, \beta+\mu n)}(x) t^n \\
&= F_{s+2;0;0}^{r+2;0;0} \left( \begin{array}{l} [c_1 : \rho_1], \dots, [c_r : \rho_r], \quad [\alpha + 1 : \lambda + 1, \lambda + 1], \\ [d_1 : \sigma_1], \dots, [d_s : \sigma_s], \quad [\alpha + 1 : \lambda, \lambda + 1], \\ [\beta + 1 : \mu + 1, \mu + 1] : -; -; \frac{1}{2}(x + 1)t, \frac{1}{2}(x - 1)t \\ [\beta + 1 : \mu + 1, \mu] : -; -; \end{array} \right). \tag{12}
\end{aligned}$$

In particular, the generating functions (10) and (11) when

$$\Omega_n = \frac{\prod_{j=1}^r (c_j)_n}{\prod_{j=1}^s (d_j)_n} \quad (n \in \mathbb{N}_0) \tag{13}$$

would reduce to the following elegant forms:

$$\sum_{n=0}^{\infty} \frac{\prod_{j=1}^r (c_j)_n}{\prod_{j=1}^s (d_j)_n} P_n^{(\alpha, \beta)}(x) t^n \tag{14}$$

$$= F_{s;1;1}^{r+2;0;0} \left[ \begin{array}{l} \alpha + 1, \beta + 1, c_1, \dots, c_r : \text{---}; \text{---}; \frac{1}{2}(x - 1)t, \frac{1}{2}(x + t)t \\ d_1, \dots, d_s : \alpha + 1; \beta + 1; \end{array} \right];$$

$$\sum_{n=0}^{\infty} \frac{\prod_{j=1}^r (c_j)_n}{\prod_{j=1}^s (d_j)_n} P_n^{(\alpha-n, \beta-n)}(x) t^n \tag{15}$$

$$= F_{s;0;0}^{r;1;1} \left[ \begin{array}{l} c_1, \dots, c_r : -\alpha; -\beta; -\frac{1}{2}(x + 1)t, -\frac{1}{2}(x - 1)t \\ d_1, \dots, d_s : \text{---}; \text{---}; \end{array} \right].$$

Both (14) and (15), and their numerous special or confluent cases, are fairly well known (see, for example, Srivastava and Manocha [22, Chapter 2, Equation 2.6 (31) and



Problem 12] where references to relevant earlier works are also available). In fact, (14) was deduced by Srivastava and Daoust [20] from a generalized hypergeometric identity which they proved. [See also a recent work of Srivastava *et al.* [23] for numerous applications and extensions of (14).]

### 3. Bilinear Extensions

Making use of Bateman's *product formula* (cf. [4, p. 123]):

$$\begin{aligned}
P_n^{(\alpha, \beta)} \left( \frac{1+xy}{x+y} \right) &= \left( \frac{2}{x+y} \right)^n \\
&\cdot \sum_{k=0}^n \frac{(\alpha + \beta + 2k + 1)k! \Gamma(\alpha + \beta + k + 1)}{(n-k)! \Gamma(\alpha + \beta + n + k + 2)} \\
&\cdot \frac{\Gamma(\alpha + n + 1) \Gamma(\beta + n + 1)}{\Gamma(\alpha + k + 1) \Gamma(\beta + k + 1)} P_k^{(\alpha, \beta)}(x) P_k^{(\alpha, \beta)}(y),
\end{aligned} \tag{16}$$

it is not difficult to prove the following bilinear extension of the generation function (9):

$$\begin{aligned}
&\sum_{\ell, m=0}^{\infty} \Omega_{\ell+m} \frac{(\alpha + 1)_{(\lambda+1)(\ell+m)} (\beta + 1)_{(\mu+1)(\ell+m)}}{(\alpha + 1)_{\lambda\ell + (\lambda+1)m} (\beta + 1)_{(\mu+1)\ell + \mu m}} \\
&\quad \cdot \frac{\left\{ \frac{1}{4}(1+x)(1+y)t \right\}^{\ell}}{\ell!} \frac{\left\{ \frac{1}{4}(1-x)(1-y)t \right\}^m}{m!} \\
&= \sum_{n=0}^{\infty} \frac{n!}{(\alpha + 1)_n (\beta + 1)_n} \sum_{k=0}^{\infty} \Omega_{n+k} \frac{t^{n+k}}{k!} \\
&\quad \cdot \frac{(\alpha + 1)_{(\lambda+1)(n+k)} (\beta + 1)_{(\mu+1)(n+k)} (\alpha + \beta + (\lambda + \mu)(n+k) + 1)_n}{(\alpha + \beta + (\lambda + \mu)(n+k) + 1)_{2n} (\alpha + \beta + (\lambda + \mu)(n+k) + 2n + 2)_k} \\
&\quad \cdot P_n^{(\alpha + \lambda(n+k), \beta + \mu(n+k))}(x) P_n^{(\alpha + \lambda(n+k), \beta + \mu(n+k))}(y).
\end{aligned} \tag{17}$$

Corresponding to the generating function (10), the special case  $\lambda = \mu = 0$  of (17)

immediately yields the bilinear formula:

$$\begin{aligned}
& \sum_{\ell, m=0}^{\infty} \Omega_{\ell+m} \frac{(\alpha+1)_{\ell+m} (\beta+1)_{\ell+m}}{(\alpha+1)_{\ell} (\beta+1)_{m}} \\
& \quad \cdot \frac{\left\{ \frac{1}{4}(1-x)(1-y)t \right\}^{\ell}}{\ell!} \frac{\left\{ \frac{1}{4}(1+x)(1+y)t \right\}^m}{m!} \\
& = \sum_{n=0}^{\infty} \frac{n!(\alpha+\beta+1)_n}{(\alpha+1)_n (\beta+1)_n (\alpha+\beta+1)_{2n}} P_n^{(\alpha, \beta)}(x) P_n^{(\alpha, \beta)}(y) \\
& \quad \cdot \sum_{k=0}^{\infty} \Omega_{n+k} \frac{(\alpha+1)_{n+k} (\beta+1)_{n+k}}{(\alpha+\beta+2n+2)_k} \frac{t^{n+k}}{k!},
\end{aligned} \tag{18}$$

or, equivalently,

$$\begin{aligned}
& \sum_{\ell, m=0}^{\infty} \frac{\Omega_{\ell+m}}{(\alpha+1)_{\ell} (\beta+1)_{m}} \frac{\left\{ \frac{1}{4}(1-x)(1-y)t \right\}^{\ell}}{\ell!} \frac{\left\{ \frac{1}{4}(1+x)(1+y)t \right\}^m}{m!} \\
& = \sum_{n=0}^{\infty} \frac{n!(\alpha+\beta+1)_n}{(\alpha+1)_n (\beta+1)_n (\alpha+\beta+1)_{2n}} P_n^{(\alpha, \beta)}(x) P_n^{(\alpha, \beta)}(y) \\
& \quad \cdot \sum_{k=0}^{\infty} \frac{\Omega_{n+k}}{(\alpha+\beta+2n+2)_k} \frac{t^{n+k}}{k!},
\end{aligned} \tag{19}$$

which can indeed be proven *directly* from (10) by appealing to Bateman's product formula (16).

Similarly, the special case  $\lambda = \mu = -1$  of (17) would correspond to the following bilinear extension of the generating function (11):

$$\begin{aligned}
& \sum_{\ell, m=0}^{\infty} \Omega_{\ell+m} (-\alpha)_{\ell} (-\beta)_{m} \frac{\left\{ \frac{1}{4}(1+x)(1+y)t \right\}^{\ell}}{\ell!} \frac{\left\{ \frac{1}{4}(1-x)(1-y)t \right\}^m}{m!} \\
& = \sum_{n=0}^{\infty} \frac{n!}{(\alpha+1)_n (\beta+1)_n} \sum_{k=0}^{\infty} \frac{\Omega_{n+k}}{(2k-\alpha-\beta)_n (k-\alpha-\beta-1)_k} \frac{t^{n+k}}{k!} \\
& \quad \cdot P_n^{(\alpha-n-k, \beta-n-k)}(x) P_n^{(\alpha-n-k, \beta-n-k)}(y),
\end{aligned} \tag{20}$$

which can also be proven *directly* from (11) by applying Bateman's product formula (16).

The bilinear generating function (19) was proven, *without* using Bateman's product formula (16), by Rahman [14]. Its special case when the coefficients  $\Omega_n$  are given by (13)

may be recalled here in the form (*cf.* Rahman [14], Khan [11], and Srivastava and Manocha [22, p. 167, Problem 14]):

$$\begin{aligned}
& F_{s:1;1}^{r:0;0} \left[ \begin{array}{l} c_1, \dots, c_r : \text{---}; \text{---}; \\ d_1, \dots, d_s : \alpha + 1; \beta + 1; \end{array} \frac{1}{4}(1-x)(1-y)t, \frac{1}{4}(1+x)(1+y)t \right] \\
&= \sum_{n=0}^{\infty} \frac{n!(\alpha + \beta + 1)_n \prod_{j=1}^r (c_j)_n}{(\alpha + 1)_n (\beta + 1)_n (\alpha + \beta + 1)_{2n} \prod_{j=1}^s (d_j)_n} \\
&\quad \cdot P_n^{(\alpha, \beta)}(x) P_n^{(\alpha, \beta)}(y) \\
&\quad \cdot {}_r F_{s+1} \left[ \begin{array}{l} c_1 + n, \dots, c_r + n; \\ \alpha + \beta + 2n + 2, d_1 + n, \dots, d_s + n; \end{array} t \right] t^n,
\end{aligned} \tag{21}$$

whose *further* special case when

$$r = 2, \quad s = 0, \quad c_1 = \gamma, \quad \text{and} \quad c_2 = \delta$$

was proven by Feldheim [8] (and, subsequently, by Al-Salam [1]). Indeed, upon *further* setting

$$\gamma = \frac{1}{2}(\alpha + \beta + 1) \quad \text{and} \quad \delta = \frac{1}{2}(\alpha + \beta + 2),$$

Feldheim's formula would reduce readily to Bailey's bilinear generating function for the Jacobi polynomials (*cf.*, *e.g.*, Srivastava and Manocha [22, p. 167, Problem 13]; see also Bailey [3], Stanton [25], and Srivastava [17]).

The bilinear generating function (20) does not seem to have appeared elsewhere. However, in terms of hypergeometric functions, its special case when the coefficients  $\Omega_n$  are given by (13) would not yield as elegant a result as the familiar bilinear generating function (21).

## Acknowledgements

The present investigation was supported, in part, by the *Natural Sciences and Engineering Research Council of Canada* under Grant OGP0007353.

## References

1. W.A. Al-Salam, On some generating functions for the product of two Jacobi polynomials, *Rev. Mat. Hisp.-Amer.* (4) **18**(1958), 135-139.
2. R. Askey, Jacobi's generating function for Jacobi polynomials, *Proc. Amer. Math. Soc.* **71**(1978), 243-246.
3. W.N. Bailey, The generating function of Jacobi polynomials, *J. London Math. Soc.* **13**(1938), 8-12.
4. H. Bateman, A generalisation of the Legendre polynomial, *Proc. London Math. Soc.* (2) **3**(1905), 111-123.
5. L. Carlitz, The generating function for the Jacobi polynomials, *Rend. Sem. Mat. Univ. Padova* **38**(1967), 86-88.
6. L.-C. Chen and M.E.H. Ismail, On asymptotics of Jacobi polynomials, *SIAM J. Math. Anal.* **22**(1991), 1442-1449.
7. E. Feldheim, Relations entre les polynômes de Jacobi, Laguerre et Hermite, *Acta Math.* **74**(1941), 117-138.
8. E. Feldheim, Contributions à la théorie des polynômes de Jacobi, *Mat. Fiz. Lapok* **48**(1941), 453-504.
9. D. Foata and P. Leroux, Polynômes de Jacobi, interprétation combinatoire et fonction génératrice, *Proc. Amer. Math. Soc.* **87**(1981), 47-53.
10. L.C. Gupta, Some generating functions for Jacobi polynomials, *Math. Student* **50**(1982), 164-169.
11. I.A. Khan, On a generating function for the product of two Jacobi polynomials, *Ganita* **29**(1978), 113-116. [Also published (in Hindi with English summary) in *Vijnana Parishad Anusandhan Patrika* **22**(1979), 85-88.]

12. R. Panda, A note on some generating functions for the Jacobi polynomials, *Pure Appl. Math. Sci.* (Professor P.L. Bhatnagar Memorial Volume) **6**(1977), 5-12.
13. S. Parnes and S.B. Ekhad, A WZ-style proof of Jacobi polynomials' generating function, *Discrete Math.* **110**(1992), 263-264.
14. M. Rahman, On a generalization of the Poisson kernel for Jacobi polynomials, *SIAM J. Math. Anal.* **8**(1977), 1014-1031.
15. E.D. Rainville, *Special Functions*, Macmillan, New York, 1960; Reprinted by Chelsea Publishing Company, Bronx, New York, 1971.
16. S. Saran, Hypergeometric functions of three variables, *Ganita* **5**(1954), 71-91; Corrigendum, *Ibid.* **7**(1956), 65.
17. H.M. Srivastava, An elementary proof of Bailey's bilinear generating function for Jacobi polynomials and of its  $q$ -analogue, *IMA J. Appl. Math.* **29**(1982), 275-280.
18. H.M. Srivastava, A note on Jacobi's generating function for the Jacobi polynomials, *Proc. Japan Acad. Ser. A Math. Sci.* **61**(1985), 201-202.
19. H.M. Srivastava and M.C. Daoust, Some generating functions for the Jacobi polynomials, *Comment. Math. Univ. St. Paul.* **20**(1971), fasc. 1, 15-21.
20. H.M. Srivastava and M.C. Daoust, Some infinite summation formulas involving generalized hypergeometric functions, *Acad. Roy. Belg. Bull. Cl. Sci.* (5) **57**(1971), 961-975.
21. H.M. Srivastava and P.W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1985.
22. H.M. Srivastava and H.L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1984.
23. H.M. Srivastava, R.K. Saxena, and Z. Hussain, Some generating functions for the Jacobi polynomials, *Comput. Math. Appl.* **23**(1992), no. 10, 51-56.
24. H.M. Srivastava and J.P. Singhal, New generating functions for Jacobi and related polynomials, *J. Math. Anal. Appl.* **41**(1973), 748-752.

25. D. Stanton, A short proof of a generating function for Jacobi polynomials, *Proc. Amer. Math. Soc.* **80**(1980), 398-400.
26. V. Strehl, Combinatorics of Jacobi-configurations. II: The Srivastava-Singhal generating function revisited, *Discrete Math.* **73**(1988), 221-232.
27. G. Szegő, *Orthogonal Polynomials*, Fourth edition, American Mathematical Society Colloquium Publications, Vol. **23**, American Mathematical Society, Providence, Rhode Island, 1975.